
Maths learning for 2 weeks:  

 
 
There is a maths challenge sheet with some very challenging 
questions, is anyone willing to have a go?!?!?!?! 
 
Monday 4th and Tuesday 5th:  
Show your child the question below:  

David has £7.60. He spend £5.98 on a book. How much money 

did he have left? 

What is this question asking us to find out?  Use powerpoint 

labelled 2 step word problems.  Ask your child to say which and 

explain reasoning. (the difference between the two amounts) 

Show the relationships between the parts and wholes as both a 

bar model and a cherry model.  Which number goes in the big 

space?  Do we know any of the parts?   

Complete each model and then work out the answer. 

Clarify that this is a one step problem because you only have to 

do one calculation. 

Show your child: 

David has £7.60. He spent £5.98 on a book and some more on 

a chocolate bar.  He had 57p left.  How much did he spend on 

the chocolate bar? 

Complete multi-steps problem sheet. 

 
Wednesday 6th and Thursday 7th:  
Adding fractions 
Remember : 
 



 
 
 
 
Jim cuts 1/𝟓   from a piece of rope.  Sian cuts another 𝟑/𝟓 from 
the rope.  What fraction of the rope do they cut altogether? 
 
https://www.youtube.com/watch?v=mO53rHEIQr4&feature=em
b_logo 
 
Complete the adding fractions sheets. 
 

https://www.youtube.com/watch?v=mO53rHEIQr4&feature=emb_logo
https://www.youtube.com/watch?v=mO53rHEIQr4&feature=emb_logo


Monday 11th May:  
 
Choose fraction activities from Mathletics. Start by carrying out 
the activities adding fractions then try some of the other 
activities. 
 
 
Tuesday 12th May: 
 
Working with negative numbers – to try and make things a bit 
different follow the link below 
 
https://www.bbc.co.uk/bitesize/articles/zkmv382 
 
complete the activities. 
  
 
Wednesday 13th May:  
 
Calculate the following, showing all working out: 

TRICKY: 

a) 2149 + 424 b) 7181 - 785 

c) 2249 + 773 d) 4126 - 794 

e) 7333 + 813 f) 3685 - 564 

g) 8550 + 841 h) 1725 - 892 

TRICKIER: 

a) 6044 × 2 b) 592 ÷ 2 

c) 6815 × 12 d) 798 ÷ 6 

e) 2611 × 10 f) 6974 ÷ 11 

g) 9644 × 5 h) 2990 ÷ 10 

https://www.bbc.co.uk/bitesize/articles/zkmv382


TRICKIEST: 

a) The total of James and John's age is 95 years. If James is 
22 how old is John? 

b) A crate holds 4 bottles. How many bottles in 414 crates? 

c) In a school there are 634 girls and 217 boys. How many 
pupils are there in total in the school? 

d) A group of 9 friends share 612 sweets equally between 
themselves. How many sweets will each receive? 

 
Thursday 14th May:  
 

Square Numbers 

A square number is the product of a number multiplied by itself. 
For example: 

 1 X 1 = 1  

2 X 2 = 4  

3 X 3 = 9 

Work out and write down in a column the number sentences for 
the square numbers up to 10 X 10. 

Challenge 1. Work out the square numbers from 11 X 11 to 20 
X 20 and write the number sentences in another column. Look 
at the two columns. Is there a pattern? 

Super –Challenge for the adventurous mathematicians! Work 
out the square numbers from 21 X 21 to 30 X 30 and write the 
number sentences in a third column. What do you notice when 
you look at the three columns? Can you explain what is 
happening and why? 



 
Friday 15th May:  

Today we are working on converting between 12 hour and 24 
hour clock times. 

https://www.youtube.com/watch?v=yFxNCverq80&feature=emb
_logo 

 

Complete the activity sheet labelled converting time. 

https://www.youtube.com/watch?v=yFxNCverq80&feature=emb_logo
https://www.youtube.com/watch?v=yFxNCverq80&feature=emb_logo

